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Catholic High School (Primary)
Primary 4 Mathematics

Weighted Assessment 1
NAME ( ) DATE:
CLASS :
PARENT’S SIGNATURE : 25
Section A |

Questions 1 to 4 camy 2 marks each. For each qusstion, four options are given. One
of them is the correct answer. Make your choice (1, 2, 3 or 4) and write your choice in

the bracket provided. All diagrams are not drawn to scale. {8 marks)
1. What is the value of the digit 5 in 150932

(1) 5

(2) s0

(3) 500

(4) 5000 ( )
2. Arrange the following numbers in increasing order.

(1)
(2)

70135, 70315, 70153, 70351

70135, 70153, 70351, 70315
70135, 70315, 70351, 701563

3) 70135, 70153, 70315, 70351
(4) 70153, 70135, 70315, 70351 ( )
1 (Go on to the next page)
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There were 78 253 people in a stadium. Express this number io the nearest

hundred.

(1) 78300

(2) 78250

(3) 78200

(4) 78000 ( J

Which of the following is not a factor of 817

(1 1

@ 8

@ 3

“ 9 { )
2 (Go on to the next page)



Section B Do not write
- in this space
Questions 5 to 9 cany 2 ma{’ks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your

answers in the units stated. All diagrams are not drawn to scale. (10 marks)

5. What is the missing number in the number pattern?

51170, 51070, 50970, 50 870, , 50 670

Ans:

6. At a party, every 6% ¢hild gets a box of nuggets and every 8" child gets
a goodie bag. Which child is the first fo get both a box of nuggets and a
goodie bag? )

Ans;

3 (Go on to the next page)
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There wére 24 finalists at a gamir{g competition. Each of them received
20 game sets and there were 10 game sets left. How many game sets
were there at first?

Ans;

{ am a number between 47 and 60. I'have a remainder of 7 when | am
divided by 9. What number am I?

Ans;,

Mrs Y@p distributed 5350 masks equally to 5 elderly care centres without
any leftovers. How many masks did each elderly caré centre receive?

Ans:

Do not v
in this sj
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SECTION C

For Questions 10 to 11, sh Do not wrie
f o 11, show your working clearly and write . in this space
i 0
ZE\?}C;S provided. The number of marks available is shown ii gjr;izz‘ge[r? ,ar; g::
each question or part-question. All diagrams are not drawn to scale
(7 marks) ]
10. Max has less than 30 erase |
h rs. When he packs { i
he will have 1 extra eraser. When he pacﬁs therr? ?nmg‘rgl? rgfﬁs o ohrae.
will have 5 extra erasers. How many erasers does Max é)ave?seven' he
Ans: =]
5 (Goonto the next page)
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Do not write

11. Adam has three times as. many stamps as Ben. Caleb has 1200 more i thiis space

stamps than Adam. Ben and Adam have 5780 stamps altogether. How
many stamps does Caleb have?

Ans: 4]

END OF PAPER

6
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LEVEL
SCHOOL
SUBJECT
TERM

Section A e

ANSWER KEY

Primary 4

Catholic High School
MATHEMATICS a
Weighted Assessment 1 a

|

a1 |a

Sectfon B

a2 |3 {Qa__!“l\

Q5 | 50870-100=50770

Q7 |24x20 =480
480+10=490

Q9 5350

5= 104

Section C

Q1o

Q11 | 5780+ 4 = 1445
1445%3 = 4335
4335+1200=5535
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